*

1/0;d0/dcpn

=
o
N

=
o

Ratio to DO

0.5

—F— Pythia 6.428 350

-~ Pythia 6.428 351

¥-- Pythia 6.428 352
----- A Pythia 6.428 353

--0-- Pythia 6.428 354
--+-- Pythia 6.428 355
----- i1 Pythia 6.428 356

Pythia 6.428 357
Pythia 6.428 358
= Pythia 6.428 359

DO_2010_S8821313

1960 GeV ppbar Z (Drell-Yan)
EI T T TTTI | I I T T TTT | I I T T TTT1 | I I =
- (pn(ll) (electron channel, |)é| <1)

SEEEEEIE: = e
m DO

: >|||||

IIIII| IIIIIIII| 1

R AR Bl o i L AR RRNE

1072

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


